Total No. of Printed Pages—31

B24-GM
Subject Code : C2 ( EN/AS/BN/BD/HN )
202 o)
024 =
~
GENERAL MATHEMATICS Y
N

Full Marks : 90
Pass Marks : 27

Time : 3 hours

Candidates shall note that each question will be
multilingual, viz., in English /| Assamese / Bengali /
Bodo / Hindi medium, for their ready reference. In case of
" any discrepancy or confusion in the medium / version,

the English version will be considered as

the authentic version.
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SECTION—A / $—>¥| / $—| / TH—aTgr / TH—WTT

Choose the correct answer :

e Taqo] AR Sferear

W Tedib ([ 7S : e
T ReEE! e R 5@-,
e IW AT

"

1. The value of y in the blank space of the following table is

o SRR 4@ 91%® y3 TN 27

RAeoa SR LRI y-<7 T 21
e GeEH Sel SREE y {5 smie
F 1 arferert § @relt TH y %1 9E 2

x 1 2. 4 8
y 32 16 8 —

(A) 8 (B) 6
() 4 (D) 2

2. Which of the following is not a perfect square?
SO (FICHT q9fTR 7= 2

EREE
N6 @G 9T 7 2 #EI%‘ :

e A 1 AR T=T?
fafafad § 94 F9-d =i gen 76 27

(A) 441 }% 572

(C) 576 (D) 729
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8. If m is the cube root of n, then the value of n is 1
M m, n T TNE W, (@ n T 2]

I m, n-aq Y= 2, O n-99 = 2
IR m, n B w=Q A, 3w B g SEE

A m, n F A R, A pw AE B

(A) Vm (B) ¥m
m3 (D) m2
4. Given that the LCM of 306 and 657 is 22338. What is the LCM of
102, 306 and 6577 1

fil =R (3, 306 W€ 6579 w8, 22338. «fEq 102, 306 FF 6579 -
3.8, [§ 2397

weT R (@ 306 R 657-99 FALEG. 22338. 102, 306 33 657-4F
.8, 7 2@ 2 |

3@ 3 R 306 =MW 657 T g.oman. W 22338. ThEm 102, 306 IR
657 T g.em@n. I W SwIE?

306 37X 657 1 LCM 22338 21 3/ 102, 306 3R 657 1 LCM arm

(A) 102 /(]_3_) 22338
(C) 22338x3 (D) 22338x102
5. Given two statements : 1

Statement (i) : The square of any positive odd integer 2% +1is
always 1 more than a multiple of 8.

Statement (ii) : The square of any positive odd integer 2k +1is
always 1 more than a multiple of 4.

o1 Sfe fra W :
o () : FIRF A KA 2k +1 E 3 W 87 wfieres
1@R | '
e (i) : T SW KA 2k +1 RT3 W 47 oo
1&R
w5 Tfe (e By :
e (1) : IS SPA R 2k +1-a7 9 M 899 @ffew (A
1 @M
U (i) : IR A RY 2k +1-97 9 W 4-97 2f¥eF (AT
1 &M
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TR g B
R (@) : IeEEE AT SERE 2k 41 TEdy s I 8 B
HHSTEATEREs 1 iRk |
Y (i) : IEEAR AN AR 2k +1 wwP whan =t 4
BIERIERINEICHN el %
3w Ry g ,%%5
HUF (1) : HATHS TawH Uit 2/ 411 971 €90 8 % oIS | 1 i
Gl
FY (i) : YA TISH QUITR 2k + 1 61 97 SHIM 4 % o™ F 1 i
|
Choose the correct alternative.
X fRFwehr AR Sfred |
W% ewb @z S |
e T T g
Tt fase ghml
(A) Both (1) and (ii) are true
(i) = (ii) FCAbR 7oy
(1) @3 (ii) 162 579 ER%E
(i) SR (i) A S
(i) 3R (ii) I ¥ &
(B) (i) is true but (ii) is false
(i) 1% 7 (ii) ST
(i) 1% 9 (ii) =pTe
(1) 37 9R YUY (11) 3 TE@H
(i) ¥ © |l (ii) 9 @
(C1(i) is false but (ii) is true
(1) ®pPToy 199 (ii) 9
(i) =pTey 17 (ii) 39
(i) 37 @™ IW (i) 37 YR
(i) 3raea § wfdA (1) 9 §
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(D) Both (1) and (ii) are false
(i) S (ii) TCAOR SPTe)
(1) «3= (ii) 7fo2 =PTe
(i) 3R (ii) M= FE@™
(i) 3R (ii) A1 3G &

6. Under what condition will px3+gx2+rxt+s=0 be a cubic
equation? 1

% 590 pad 4+ gx2 + rx + s = 0 b1 T W1 272 E%f!
906 px3 + gx? +rx + s =0 93l faare Mg =72 e
T TERIAE px® + qx2 +rx+ s = 0 37 A 595 GEFYATE STA?
form 1 W pa® + gx 2 + rx + s = 0 T T wfew m?
(A) p, g, r and s are all non-zero

D, q, T ¥ s Cmm

P, @, T R s R

p, g, r AW s TS TME’ TeT

p, q, r 3R s @ft Ay B

(B) p=0and g=0
p=09F qg=0
P=09Rqg=0
p=03Mg=0
p=03Rg=0

(C) p=0org=0
p=0dqg=0

p=0dg=0 EE%E!
p=0Tiqg=0 OPEeS

p=0 3T q=0
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7. When x is real number, the graph of the cubic polynomial 8x3 —1
i x A R 7, (908 8x° — 1 RS TR @I
it x AW YT T, O 823 — 1 fargre qemica @b

R o 31 TR IR s, aeen 822 — 1 wer forre Maify AmmETRE
AR x 1 HH TF areafass @@ 8, @ B 9g9e 843 — 1% e

(A) does not intersect the x-axis
X-%P (U 9909
X-RCP (IR
x-TiR ETERa g’ 3
x-38 ! Wa=sz 7 ==ar &

(B) intersects the x-axis at exactly one point
x-SPFS TG 9 ez (=% 901
X-SPFCT G G0 Yo (=% FCq
x-Tf% ErE W R T
x-3& I hae Th forg W & ufeeas wtar &

(C) intersects the x-axis at two distinet points
X-IPFT YBI (I ™ (= ]
x-orwes it fd Rre @ I
x-Tf FrERE AR A A fRieE ame Ay
X-31& I QA FerT-3¥e Forgatt | =0 wwar 2

(D) intersects the x-axis at three distinct points
x-S fofb] (el e (=% $d
x5 foaft fon s =% 3ea
x-Tf% FrErd! MY A A fekiera amg’a
x-98 ! R Ter-7am frgalt W wf=or ar 2
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8. If the pair of linear equations ax+3y+c; =0 and
4x + boy+ cg = 0 has a unique solution, then 1

W a1x+3y+cy =0 ITF dx + boy+ cg =0 I ARA b1 wfaeH
AN NCF, (T3

T agx +3y+cy =0 G 4x+ bgy + cp = 0 NI (TR «F(6 TS
ST AP, SR

IR agx+3y+cy =0 M 4x + boy+ co =0 FANYE TN THE THA
EGATE AT, 3T

TR a1x+3y+c; =0 3R dx+byy+cg =0 Wak wliRw g0 F T
fgdia & &, @

/(A) a1 =3, by =4 E‘% (B) a3 =12, by =1
[OpEE

(C) a1=4,b2=3 (D) a1:5,b2:1

9. The coordinates of any point on the x-axis are 1
X~ S9Fo 491 [ (@Il R 21se 29
x-ICF] T U @ @I RE TS =@
x-Tf} FEH \EE 9AE sERasmn =it amafifsemr see
x-318 R e oft forg % fore Fderas g
(A) (%;0) (B) (0, y)
(C) (x, x) D) (x, y)
10. The sum of the =zeroes of the quadratic polynomial
p(x)=4x2—1 1S 1
0
2 ’ i
=TS T2°W p(x) = 422 — 19 MR @IoTFe 2’9 % :
fare T@om p(x) = 4x? - 1-47 8RR R T3
ST ForTeia p(x) = 4x2 — 1 ¥ wfora Bt aremarmran i
fouma 5578 p(x) = 422 — 1% y=a! 1 Tt M

(A) =1 (B) 0
(C) 2 AD_)JL
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11. The common difference of the AP v2, /8, JTS, J32 is
V2, V8, V18, /32 S5 a5t a4

V2, V8, V18, /32 g asfefa Tame ~nefe
V2, V/8, V18, V32 wmggfer Smfufy s mian st
AR A€t V2, V8, 18, /32 =1 wd 2w B
(A) greater than the common difference of the AP 2, 4, 6, 8
2, 4, 6, 8 ST NSO FIYRe] TFTSLF TIe]
2, 4, 6, 8 ST A9(TSBT @ Nl (AT T
2, 4, 6, 8 AAGA SR SER wrmfafrgs Tfe
R A 2, 4, 6, 8 F TE A=W F A
(B) equal to the common difference of the AP /32 , V18, /8
/«/ﬁ, V18, /8 FIER 2ASBR YR WIS TS F
V32, V18, /8 s 2eifefba STarme ol e T
V32, /18, /8 "reifet SR SR s gqE
TR At +/32, /18, /8 F W 1= F TR

(C) equal to the common difference of the AP /50, v98, /162
V50, /98, V162 S 25fSBR MURe SwI AoS FA
V50, 98, V162 Siieq 2sifela Seme 1 ST ST
V50, /98, V162 Tyl strmfaf AiER SRSt @

AR A /50, /98, V162 F HE A= * T

(D) greater than the common difference of the AP \/15 \/51
%, I L e 2ifocm ST SrReLE Oie
%, (’Wﬁﬁ 29I TR *f12fT (T T
v 0. T e sty s g e
T 3 j_ 5 ~1 3w omw
B24-GM/102A
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12. If the base of a triangle is increased by 10% and the altitude is
decreased by 10%, then the new area of the triangle 1

b1 fagea R 10% R - 27 9 TAfe 10% 2P T 2A, RS
fapecoR g Ffer

a3l faeren S 10% @ @en o @ WS 10% gP1 T 20,
ToAR fageibe g cvawe

A SRETam g 10% SRA™E e AR AR 10% a2
S, el AT Mo easiy |

T Bge 1 3R 10% wet T wn ik FEE 10% w1 € | B w6

SER |
; EZE
(A) remains the same %ﬁz‘% (B) decreases by 1%
@ e ' 1% 351 2°3
G2 YA 1% 2P *i1ed
T A 1% GEETA
TR M 1% &2 S
(C) increases by 10% (D) increases by 11%
10% A3 11% ifeq
10% [T 11% e
10% =T _ 11% ST
10% = < gﬁ% 119 g ST

3
13. The point R divides the line segment AB, such that AR = ZAB

The ratio in which R divides AB is
R Rgbia AB @44ST W@ﬂWWAR:%ABQQIR@ AB

15l 91 AT T
R fft AB @It qITerd Sl IR MO AR=%AB§§J| R-43

AB (< Sl T ST 203
R )31 AB TEN@I<IE! Qe AT @ieamal sere AR:%ABGIW‘H
R 31 AB G 9TRTN W™ 491591 ST
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Rﬁ@m%@aﬁmmﬁmﬁam%mﬁngwﬁm%mm
AB i} Tfsrd 0 w1 37ad B

(A) 3:1 & % )B)/3:4
(C) 4:3 0 (D) 4:7

14. P(-1,0)is the centre of a circle and Q(2, 4) is a point on this circle.
Three other points on this circle are

P(~1,0) 901 I8 (3T AF Q(2, 4) JSON e*[e Bl 77 | JGBR 67
2! o1 Feftr R 23

P(-1,0) 96 3089 (F7 92 Q(2,4) Jalta Toga b Ry 1 Ieibg TR
U oy fonfs % 21

P(—1,0) 97d sSwAf e 3 Q(2, 4) 3 SwHAl g am @ea o
SEA G AHE TR 9 SRR S

P(-1,0) forelt 99 o1 &35 § 3 Q(2,4) 3 39 W f¥w w farg 31 T R
Tora i e fag B

@) (-6, 0)

(i) (-1, 5)

(i) (3, —3)

(iv) (0, —5) g’%@!
Choose the correct alternative. OpEs2 U

W% Reico! 1R Tfere |

W% {SHL ([0R 8 |

14 e wrrE ' g )

wel fases g

(A) Any three of the above
829 R @rear fefiny
TR (@ e foafp
M ST dem
Iy § ¥ i A
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(B) (ii), (iii) and (iv) only
@ (ii), (iii) S (iv)
T4 (i1), (iii) 932 (iv)
(ii), (iii) 3R (Qv) e
Fad (ii), (iii) 3R (iv)

(C) (1), (ii) and (iii) only
19 (1), (i) = (iii)
TG (1), (1) @R (1i1)
(i), (i) WY (iid) 0
*ad (i), (ii) 3R (i)

(D) (i), (iil) and (iv) only
T0@ (1), (1ii) = (iv)
g (1), (1ii) 93R (v)
1), (iii) 3 (iv) A’
Fad (1), (i) 3R (iv)

15. The longest chord of a circle is called 1

3Sq bR e WIeEe (TRl =

0BT NIACE 7T WIHCF =0 =W

St safrgEe e ffeiare) s s

I < e Tl S I e A

(A) radius (B) arc
TP oot
R 1ot
gEE A
B =

(C) diameter (D) major arc
I 37 B9
TP T3 B1%f
CICHIC]| ™I
= & =
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5
16. If 5x = sec0 and > = tan(, then the value of 5[3:2 - !2-] is
x x

Ilﬁ5x=secOW§:tan0’-Eﬂ, AUIAH 5x2—-i~ AT 27 EEFE

G
M 5x = sech G333 s = tan0 2, ©e 5[x2 —-%J—uﬂﬁ qr*T 2¢4
;-

X

IR 5x = secGMT(’lS:tanGGﬂ?ﬂ, 31T 5[x2——1§JﬁWHT€fFﬁ=I

x

aﬁ5x=sec83ﬂ1£~:tan9§,ﬁ5[x2— 1 ]Eﬁlqﬁﬁ"ﬂ

%2
&) 5 /Q&V%’
© 0 oD (D) -1
L

17. If the length of the tangent drawn from a point @ to a circle is
24 cm and the distance of @ from the centre of the circle is 25 cm,

then the radius of the circle is

Q RE 1 W1 Jo ~*PfFTEN (7 24 e WF JSOR (FFI [ @ R
79 25 cm R'CE JECOR IPTY =T

Q R (3 <3 JreT =PfF7 (7 24 cm @R JBHA % (AT Q R
799 25 cm e Jeiog AT =S

Q fs=ifwm A8 sev fim s Al TE ARaEd 24 cm 3R SEAN
firefiwm @ W= STHeTEaT 25 cm SRS, SEAN 9 @ET SFTH

Q forg & wF g i wi-X@ A g 24 cm R T FR F Q fog A @
25 cm B 99 6t s i 7= geft

/A@)‘ 7 cm (B) 12 cm
(C) 15 cm (D) 24-5 cm
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3

If two cubes each of volume 64 ¢cm*® are joined end to end, then the

surface area of the resulting cuboid is

ATOFCA 64 cm® SAREARKE T TWE A T A9 I XA | (SR
RO YRR B =3

2B 64 cm?® TRSARME 7o T TR N A5 F1 A | SR TS
TR PSR (FAF T

ATHIEEE AR 64 em® A AR TeRE) SR S BRTEE
ST, 3Tacll WIHISHE STRIATR SHeh fog qeensgioran ST

R T, TT F ARG 64 cm ¥) AR AT T A TH-TR W g fan g,
A aftomdt o s gl SEe M

(A) 160 cm?2 E‘% (B) 176 cm?
OFES &

(C)_¥28 cm? (D) 192 cm?2

If the median of the data 25, 30, x + 30, 35+ x, 40 + x arranged in
increasing order is 35, then the value of x is

THFTe NaRl S 25, 30, x+ 30, 35+, 40 +xF TGN 35 T,
x3 I 2’3

SHG SN SUPR 25, 30, x+30, 35+ x, 40 + x - NI 35 e,
x-99 ¥ 21

STITETE AR TRrE @i TSEr 35 srser x 1 9 srA
25, 30, x+30, 35+x, 40+ x

Sy 1 afen SRS 25, 80, x + 30, 35+ x, 40 + x %1 AIETE 35 B x

BRI Ei¥E

%
(A) 35 Eee: _ (B) 5
(C) 25 (D) 10
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20. The probability of getting a prime number greater than 2 in a
single throw of a die is 1

o1 Fpefl IR MRCE 290T ©eT (e AN A e 23

G0 PNl 9PN RS THCH 2-9F (WS IG (AR AN 1S RIS
W

ﬁ;m@@aﬁwzﬁmmﬂmWWWW

Teh TR I T AR ol W 2 | I A9 U1 T B Y rfekar gl

@A) 1 (B) %
&

2 ook Dy 1

© 2 Aie @)

21. Ifthe area of a trapezium is 1350 m? and the sum of the lengths of

its parallel sides is three times the height, then the height of the
trapezium is 1

51 PR 1 1350 m? S 3WR @R ICART W99 WS THe
el 2°ce1, Twel 2’7

<o FIFRAIT v 1350 m?2 92 99 SNBIE IeskE edR TR
Twer foTeq 3ca Twel 31

AR fufamfy ssarfm 1350 m? oW af o srafoert arRuRi
STSTEATIEET SR STHEH ST ST ST

T A MH F AI% 1350 m? ¥ 3661 SH TR et o Aha
Soré A fagm R 1 smpfa Y F=nd St

| Ofyd0
(A) 20 m (B) 10 m #%},
(=] 3

(C) 60 m (D) 30 m
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22. The smallest perfect square number which is divisible by 4, 9 and
10 is 1

4, 9 WIF 1073 299 IR [ ABRSLS 3 7ffasf JU 2’7

4, 9 9R 10 ey ©i9 T I G TR RICH! s 7:4nfb 23
4, 9 W 10 S ST wafrgs geRe a1 sl smfsmrn S
4, 9 3R 10 ¥ Y9 99 B 1 g B

(A) 144 (B) 900 /’g_Q),,SGOO (D) 360

23. If the sum of the zeroes of f(x)= kx? —8x +6 is 4, then the value
of £ is 1

M f(x) = kx? —8x + 63 X3 W 4 =W, (o3 £7 W 27
i fx) = kx? —8x + 6-97 XA T 4 W, ©IZeH k-7 T @

SR f(x)=kx?®—8x+6 fi wfra’R e 4 SR, seen £ B oW
ST

afe f(x) = kx? —8x + 6 % Y 1 IS 4 §, Ak W AH BT

(A) 6 (B) 8 (C) D) 1

24, If a quadratic polynomial has two different zeroes, then the
number of points in which the graph of the polynomial will
intersect the x-axis is \ 1

B faare qgem AR GO fom W AR ETHeRE x-S (W 0 [
ERNEE

f> fagre q=om A aft o7 7 ARce @R x-S @ T YL RA
E6|

T W faerEiEr afft oMY ER ER aitRE’ e e
x-TR g@ ema’ TR SR smfmmE Sme

T fium g % 3 i Y ) Tge B AW -0 A T fegat W
forsfea wam?

A) 2~ (B) 3 ©) 1 (D) 4
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25. Which of the following equations is a linear equation in one
variable?

oS frl SASIREAR (@01 GBI oY (A 7q1act 2
s iy FNFAIBFE @b @3 RgE Al T 2
Frfefaa el & @ w = a1en Wash wefeo Hg-ar 27

(A) 2x=3y B 2% -3245=0
(C) 3x+y=0 (D) 3t+7=8t-2

26. The pair of equations kx +2y = 5 and 3x + y = 1 will have a unique
solution if

kx+2y =5 % 3x + y = 1 (IR NP4 QART 956 4 AF7 I
kx 42y =5 9R 3x + y =1 (4% 9 (SR 4% 4 AR A

kx+2y =5 3 3x+y=1 TGN GHAYAE TH T AEGAE AT
I

kx +2y = 5 3R 3x + y = 1 Xash it =1 Tt el 2T, AR
(A) k=0 (BYk=6

(C) k=2 (D) k=3

27. The number of roots of the equation (x +28 =23 _4is
(2 +2)2 = 23 — 4 PR TR RYN 2A

(x+2)% = x3 — 4 VPR o1 A Al
(x +2)% = 2 - 4 TAReEH T ewfvmrEn STET
(x4 2)3 = x3 — 4 wriRor % el i wEm Bt

) 3 B 1 © 4 g%
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28. Which of the following equations has two real and equal roots?
o (RICOT ST Yo AEQ SF ST ol SCE 2
v (PR ANRABT 76 T8 92R T oA TR ?
TR AT FHHATEH HHA TS TR T a1 &7
frefan 3 3 Fr Tl 3 arafiF ol T 5w 8

(A) 3x%2+14x-5=0 (B) 4x2+2x-1=0

@
(€937 ~6x-+1=0 EB D) 2-br+4=0

29. In an AP, the first term and last term are 1 and 11 respectively. If
the sum of the terms in the AP is 36, then the number of terms is 1

@bl AR Ao AU W o o g 1 W 11, T T dafecoR
MRS AT 36 =, (% 47 M 23

I AT Aol 299 @R W W G 1 @R 11, I S8 2efefiq
MR STe 36 2, ©IRCA Y SR T

TR gl S fify s Sefy faemn wifd 1 e 11, gk amgla
S foemer e 36 w™, 3t fag@fd smfmrn smH

T R gt 3 qem o a1fm ug e 1 3 11 ¥ 3R A % weft wdt
ITRS 36 B, O T WAl h T ghlt

y (B) 8 ExE  (C) 10 (D) 12
Xyl ik
SR
30. 42 is a term of which of the following arithmetic progressions? 1
42 B! SoE (O] TGS A9 BT o 2
42 >4 Neva (@ TR 2Aoifeq G 7% 2

42 STATTHTET MEEE ATY i ST 7e e
frfafad # @ fora auR A & T 98 42 BTY

(A) 92, 86, 80, ... (B) 102, 95, 88, ...
(C) 2, 8, 10, ... (D) 0, 8, 16, ...
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81. In a AABC, XY ||BC. If AB ABX and Y(! 2 ¢m, then the value
of AY is
AABCS XY ||BC. afi AB - ABX 1% YC 2 e¢m 23, (5% AY A 9@
T3

AABCTS XY ||BC. i AB:- 4BX @R YC = 2 cm 79, @507 AY-4q
M 2

AABC 31 XY || BC. ft AB = 4BX 3 YC = 2 cm 51, #1=0 AY f4
AT S

AABC #, XY ||BC ?1 9 AB=4BX 3 YC =2 cm 2, a1 AY & 1
B

(A) 4 cm (B) 6 cm

(C) 5em (D) 8 ecm

32. If CM and RN are respectively the medians of AABC and APQR
and if AABC ~ APQR, then which of the following is correct? 3

™ CM ¥ RN @& AABC S APQRI 4 =W, <
AABC ~ APQR 3, (9(8 S (FICH] W% ?

I CM R RN T AABC @R APQR-99 TN W, aR
AABC ~ APQR 2, 125 69 (A6 WE 3 ?

4 CM ¥ RN wR3 AABC M APQRf 5w sl i
AABC ~ APQR ST, 371 MeREH 7 &7

e CM 3R RN #9e: AABC 3R APQR # wifgyerd 2 3 3l
AABC ~ APQR, @ 7= # & %11-11 & 27

(A) AAMC ~APNR (B) AAMC ~ APRN

(C) AAMC ~ANRP (D) AAMC ~ ARNP

B24-GM/102A [ Contd.



( 19 )

33. The coordinates of the point A, where AB is a diameter of the circle
whose centre is (2, —3) and B is (1, 4), are

@51 389 IPT AB. (FFI AT (2, —3) WF B TEES (1, 4) 2@ AT
AT 2]

3o eed IP AB. (T FFIT (2, —3) ¥R B-99 FFS (1, 4) 2
A9 T T

o8 S@at @@ AB. iy aafy fmn (2, —3) o B aaf fmmn
(1, 4) Srsen A 7 aEf e sme

AB T 90 =1 =9} 99 %% W Fdw (2, - 3) 3R B fg w1 fdwme
(1, 4) 31 A forg =1 iz 2

@A) [1, 2] E‘%‘E B) (2, 8)
2 £3
[=]a205

© @3, -10) (D) (-2, 3)

34. The ratio in which the point (-4, 6) divides the line segment
joining the points A (-6, 10) and B(3, —8) internally is 1

(—4, 6) RYEIE A(-6, 10) W B(3, —8) SN [@HINGT TS I
SAATSCE! 2

(—4, 6) 76 A (-6, 10) 93 B(3, —8) @M @INYF SBee I
SePTeis 2Cel

(—4, 6) 5= A (-6, 10) 3T B(3, — 8) o= Teie sra@=ra 3l
REDIRT CIERIREIE DK

(—4, 6) g A(—6, 10) 3R B(3, ~8)ﬁ=ga@nﬁi“@1@33%?m"aaiaqﬁﬁ
fermifsa #m?
D0

(A) 3:2 (B) 2:3 £ 5535
O]
(©) 7:2 (D) 2:7
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85. If sinA = co0s33° A <90° then the value of A is
T sinA = c0s33°, A < 90° T, (<8 AT I ¥'3
T sinA = c0s33°, A < 90° =, ORE A-G9 T4 3
I sin A = cos33°, A < 90° ), asen A A1 Smi
Ifd sinA = c0s33° 3R A < 90° &, @ A =1 ¥ B

(A) 90° El%ﬂ (B) 33°

(C) 27° (e (D) 57°
36. If atanb=x, bcotd =y, then the value of xy is

M atan® = x, bcotd = y W, (OB xyI I 27

I atand = x, bcotd = y T, O xy -9 I T

3 atanb = x, bcotd = y A, 3= xy M 7T A
4 atan0=x, beotd =y B, ¥ xy F AF W

(A) a+bd (B) =1
© 1 (D) ab

387. If tangents PA and PB drawn from a point P to a circle with
centre O are inclined to each other at an angle of 80°, then the

value of ZPOA is 1
i B R P3 [ O (FTYE 961 J69 PA W[F PB = M{IEOIC T
80° (JITe el ACF, (98 LPOAT I I

I 3 R P-97 (WP O (TS I 089 PA ¢ PB =gl
oo 80° (1T JCF AT, BA LPOA -G I (A

IR A f) P P O fie 7RI s@Af PA 3R PB ifsir i@l
TESiTE 80° AT IFE!, 315l ZPOA T3 7 svie

R 0 ¥ 39 = P fog @ @i+t 7§ < wwei-t@nd PA sl PB 80° #iw
st &, @ LPOA 1 W B

(A) 60° e (B 500
(©) 70° o] (D) 80°

(I3 -
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88. The degree measure of the angle at the centre of a circle of
radius r is 0. The length of an arc of the sector is 1

r AP 951 IST (FTS (FITCHR M o1 0. JSFMOR 9GB! B/ 7 2’7

r APER I Jreq @ @aa & T 0. JeFey o SR
E6

r gEER 9 SER feae @'l &l sEmn 0. s A S
ASATST ST

r B % frdlt 39 % ¥ W B i ol 7m0 R Fowe F 9w R o
Bl

0 D0
(A) 'm: ; | (B) Onr
90 OPFi2H 180°
Onr Orr
C D
= 270° D) 360°
39. The number of tangents drawn through a point inside a circle is 1

Je4 foeqe 331 99 @OR T BT 2[1 =opfa 724 2'57
e foem Al @i R 54 e Srcs war == 722 2

SIEIR
o 3 i Fet g e S et - o we 3
A) 0 (B) 1 ©) 2 D) 3

40. If the circumference of a circle is 22 cm, then the area of a
quadrant of the circle is 1

T @bl IS “RfA 22 cm W, (SR'TE FOUR 9B (5] Tl 27

i @fb o7 AR 22 cm =W, IR FBbT GF-PPTE CFaFE T
gﬁﬁ?ﬁﬁ@qﬁwmﬂcmw, Il A AAE TER-aH
LCHPRIESIIE

afz forelt o A TR 22 em R, T T F TS-Tqutn =1 dAma B

(A) 77 cm? E%ﬁ! (B) z‘gzcmz
A
© 1T em? @) T em?
8 4
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41. The volume and surface area of a sphere are equal. The diameter of
the sphere is 1

GO (TR SIS S I SN | (SIEARCHE A 24

G3fB (BT TR 32 PSR CFawal AN | (SIEFBd P 264
T g AT TR forg geems e s g @mEn e

Fie et Mt 1 21ree 3R uiw &mse aer &, @ et 1 =3 8

(A) 3 units (B) 6 units
3 9FF EIENE 6 9FF
3 9TF EEI-' > 6 9P
3 wrl 6 wfE
3 TR 6 TR
(C) 2 units (D) 4 units
2 G 4 93
2 &IF 4 933
2 g 4w
2 TR 4 TS

42. The ratio of the volume of a cone and a cylinder having same
radius and height is 1

GG AP AF GG THORS GBI *IeF TF B He o TS I

G2 IR R T THORE G MF GR GIH (@A HHSCT FS
A

ﬁg’wﬂ@ﬁmﬁwmmmm@mﬁm

e B 2R S ATl O Wi 3 T oM F e H IGAE B

(A) V3:1 (B) 1:3 g%
—
(C) 1:2 (D) 3:1 A
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If the difference of median and mode is 24, then the difference of
mean and median is
TN HF IR AN 24, (OB W4 I T4FIE #1246 27

TN G2 T 2N 24, ORCA N4 @38 YRR N4H =
A N1 TR TSN BRET 24, 37601 Ty TR FSRATH BROT S

af Tt afisret o AT 3R TEEF IR 24 7, A WIEH M HIAR FH] 7R
ﬁp.n

(A) 10 (B) 12 (C) 14 (D) 13

o

A number is selected from the first 100 natural numbers. The
probability that the number is divisible by 8 is 1

AT 100 O TOIRSE SRY[ 2/ @Ol SRAN G 2F | RATH! 87 ey
(BRR F8Ifael 2’9

A9 100 5 FreilRe 301 (e o F2M (weq 2@ | 74 8 ficy Ry
26T FYRTS! 2l

fifs 7 100 Tl smfmmtsm A9 safm aFE s sEfmmE 8 i
AT ST ST

Teeft 100 WFHd GEA3T § |/ FI Th G I TR IW G 6 8 WA o
IR |IDETIR

3 8 1 1
= D -
&) B) o © 2 B} e

[.'-D
4
Which of the following cannot be the probability of an event? 1
T (FCOT GBI WO IS 27T (RIS ?
A5 @D GFH WA= TSI 2 AN A1 2
TETEf ATe AAE ST ST S g
Trefafas # 8 wF-dt fomedt ge & wilkear 78 2 ekl

(A) 0-225 (B) 0-6 (C) 1.2 @) 3
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SECTION—B / ¥—¥] / 4—=¥| / @—aTerT / & —¥TT

46. Factorise : 4x4 11 )
Teomd ROm 79 2 4x? 1
TS Rowa 3ean - 4xd 11

ﬁ'g?!ﬁlf(ﬁﬁ’l(:4x4+l
W@@W:4x4+l

pieces of equal length. What should be the maximum length of the
pieces?

o 989 7 TR 64 cm WIF 80 em. TEICER R T Trefa G <
Tfer| e | SR (3 (IR TS R O[T I T 2| (9
$3am e trefs fewm 2’92

it e 7 T 64 cm R 80 cm. 75 (¥CF SN g FHCAl B (9
R30S T | 6 T (E @B @@ N R G i oreh o 7 2

3 el aRUTE WRA 64 cm IR 80 cm. JAHHE HH wEARH L@
T g e orenet A A feERmE e g e s
A TISATET S ¢

64 cm 3R 80 cm TS ATl A WTYAT i SR TR AT ghel A FIE 1 @
A F© o= A W | I gohel ohi Fatferen warg fohert gnfi?

7’(\&:0 ropes are of lengths 64 cm and 80 cm. Both are to be cut into

48. If /B and /@ are acute angles of right angled triangles ABC and
./~ PQR such that sinB = sinQ, then prove that ZB = ZQ. 2

Tft SacFA fags ABC w1F PQR I /B ¥ £Q THFIY Yol G4 (T
sinB = sin®, (9T 2N 91 (T 4B = £Q.

% TN 9% ABC @33 PQR-<A /B &R £Q I b 2 €A
2 (@ sinB = sinQ, ©a 2N I @ LB = £Q.

Sfz @i AEf@am ABC 3 PQRR /B 3 £Q W AW W@
&Y sinB = sinQ, 37ec BRAW @a™ f /B = £Q.

afe /B 3 £Q d =@ #w § i sinB=sinQ, @ whw Afsg 5
/B=/Q.
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49. In APQR, right angled at @, PQ = 3 cm and PR = 6 cm. Determine
/QPR and £PRQ.

APQRT @ (JI9H1 90°. ¥ PQ =3 cm & PR =6 cm, (93 LQPR
% /PRQ el 31 |

APQR-93 @ 1 90°. I PQ =3 em 9 PR =6 cm, ©ixtel /QPR
9R ZPRQ A1 3¢ | %’%‘;

DEAD)|
APQR i @ @™ 90°. Yk PQ =3 cm ¥R PR =6 cm, 3151 ZQPR
AW LPRQ R

APQR %1 Q T9&IU | i PQ =3 cm 31 PR =6 cm %, @ ZQPR 3R
ZPRQ 314 s

SH
50. Two dice, one blue and one grey, are thrown at the same time.

Write down all the possible outcomes. What is the probability that
the sum of the two numbers appearing on the top of the dice is 13? 2

BT T W G0l ®1R qeq 701 vl «@Eics 1R e 29 | e e
Forree o1l | el Yhre SCER WAE W 13 @RI SIS [ 2

@3 T @R 96 =B e 1 queB A PN GIH (RS =LA | ARB

TG Fels CATC | e A S qfba TorcRR 4wd ©pi e W 13
28R SIS TS ?

T e AR T GUIE TR 36 TG FHEA TREEE W6 | MEE W e
Tumz A for ) qgaf a1 SRA JAE 2ma Al g e 13
SHEM SEAET S8

TF fid 3N Tk wiE g8 Tway e ol @t darfaat gt fafan) sw
3 91t 31 qrE] s GEad H1 A 13 B, 38R R’ ATkt 27
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?{":Solve the following pair of equations by reducing them to a pair of
linear equations : 3

SR AP AR (AT TR QR ol PR LA A

ACH SN (SOCF (AR SN (SO Ffgd FC S I -

T AHHARERE! A TRETR GHHAT SR A AEgETs g
Frafeiaa sl gm =1 Waes wiemw § wraita & g HINT

7x—2y:5 8x +2y
xy ’ xy

=15

52. Find two consecutive odd positive integers, the sum of whose
squares is 290.

o1 SR SR QIIRIE S S Sferedn T1 97 @ 290.

ot FT S AR WS FRY ([ T T 05 @S 290.

T B TSR 99T O IS fOgd, S sieRt g 290.
T swrTa T gATenss it Femifere, R =t =1 9 290 A

3

58. A sum of ¥ 1,000 is invested at 8% simple interest per year.
Calculate the interest at the end of each year. Do these interests
form an AP ? If so, find the interest at the end of 30 years making
use of this fact. 3
1,000 531 I 8% W@l o1 7w RfFcare T4 24 | oS I29T qw© [©
fRFIm 2°3, 519 1 1 od W2 PfRIPTCE @Bt SWIe oS 9o eaes 2 A
I, W% SURMT 72RS 30 T2 TS FoF /w1 {efm 4 |
1,000 5 AP 8% S Fovd = RiAcHsl Fa1 2 | 24fS 3T iy
W IS 2, AW @ | R @2 AfResle 3 STEe aeife sioq 3| 62
1t ¢, 9% SR AR 30 TR N erd AR Fefy e |
SEIR 8% TS e 1,000 T IAYHEEH | HHHH TERH HsmEE ged!
ERE | 9 G BH% THgf Sy 2@ 917 g <@, o anf) s
30 ERM A ge g |
1,000 T ATAHT 8% a1f¥er WIURY = & W e foram | &t wret & 91
=S a1 BM? F SIS 1 GienAn giEr AP 7 afe R, | 3 e
TRl ¥ 30 Aiell o 18 e arel =4 o g 3 A
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54. ove that if one angle of a triangle is equal to one angle of
the other triangle and the sides including these angles are

proportional, then the two triangles are similar.

oM 31 (@ T GBI Ta9es @1 (@19 A= 9O fageR 9B (PR T T
G2 (JITCFLD! 9167 91 AR AT =, (O3 fage qo1 5 |

o I @ MW 3 faprm @I @ T 93 fagrer eI @Ier
TR W R G @SR o w91 IRe Wi =, o fagw i
P |

HRAA T & R AR smafRumfy 9 ' e R et

TR G FHE AR S T S SRR SaEaTR S, e
@t AT e e

e T Bye 1 T B el o e % T i 3 s @) o 3 o
1 Td S FETgaTiae ©, @ s it 6 aE By arew 8

55. Two opposite vertices of a square are (=1, 2) and (3, 2). Find the
coordinates of other two vertices. 3

ao1 IsfrFar ReRe AR 701 25 (-1, 2) 5= (3, 2). IF TRm HR
FIE Sferean |

a3 Fefrmear Refre Ml 16 = (-1, 2) @R (3, 2). AR MRy 1oa
FAIE (T I |

A &1 gseg AAA Jeun fafaf fe=er (-1, 2) 3 (8, 2). g AR
TRty Rt aafy fmre g

et =1 & < faada ofist & Fdwis (-1, 2) 3 (3, 2) &1 3= A wiwt &
Fréees 3@ Fifsm
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56 Two tangents TP and TQ are drawn to a circle with centre O from
an external point T. Prove that /PTQ = 2/0PQ. 3

AfRse R T3 @1 O FER J8& TP w TQ ol =oF Geit =/ | 21
3 @ LPTQ = 2/0PQ.

My /Y T-99 (AT O @7 7S TP G TQ b =XF Gt =¢all | 21
I@ @ LPTQ = 2/0PQ.

TR =) T Fwm 0 fire T SwAfim TP M TQ R Fifve giEl FHHE
™ | BIEE @em @ /PTQ = 2/0PQ.

T g T3 0 ¥ 39 W TP ofn 7Q @ wrvi-t@rd dieft | wwford
$ifvw f5 LPTQ = 220PQ 2|

57. The cost of fencing a circular field at the rate of ¥ 24 per metre is
¥ 5,280. The field is to be ploughed at the rate of T 0-50 per m?2.

Find the cost of ploughing the field.

2fe REme 24 51 2q© 93w O YR (FF Tl TS 5,280 B 4T
2 | AR 2Afe IS 0-50 531 e A I A | AR Qe (q=T
3z fefg 41 |

2f% b 24 BRI 20 @B R (¥° A TR @O (SR I
5,280 518l 46 W1 (¥ 2f aff¥Bica 0-50 O A A X e |
(¥efbg Z7e ASHF 435 efy I |

T SEER Barl Suf S8 fAwm femE 24 T 5,280 U SHEN
BRI AW T femE 0-50 T g TaHE SEE | BIYRA g e
EGEICINERET

ufd #e W 24 wqu i R Y Th FAHR G H IR IR 8 @ W FA

5,280 U T B4 &1 @d # €A Sad W IAF A HRW W 0-50 T FT @Al
A B R G & 7 e W FA G 71 HI

B24-GM/102A [ Contd.



( 29 )

58. In a solid cylinder of height 12 cm and radius 5 cm, a conical hole is
made. If the height and radius of the cone are same as that of the
cylinder, then find the total surface area of the remaining solid.

12 cm TS §F 5 cm IPTERMAE GO (N0 ([0 abl *KF WPHET 5Te
9Bl CTUR F9q1 2’ | T NGOR Twe! AE AP (TR AT GF A,
(ST SRMAE (o1 IFOR oIl Tfered |

12 cm T @2 5 cm IPIHRFE I S @A 1 wgfen @ oé
G 91 xee 1 A <rgia Twer ek IR (@D TR @R T, SR
I XIS MR Pecer CFAFS (I A |

12 cm S IR 5 cm WG T AHE T TRYETT WA ETg G e
TE A SEE| IR SEgH Sy IR @ eE TgHe @ e, 3 ST
AT T SETe M fag e R

12 cm 3= ﬁ?5cmﬁﬂﬂﬁ@@ﬂﬁﬂ?ﬁﬂ§ﬂ1§ﬁfﬂ@@
T T Afe W d S9N G Sww % SO B, @ 09 = AHia B
g % I1a I

59. Find the median of the following data which give the marks out of
/50, obtained by 100 students in a test :
Marks Obtained 20129 |28 |33 |42 | 38|43 | 25

Number of Students | 6 |28 |24 |15 | 2 | 4 | 1 |20

wore fam St 50 w91 fSeew o1 100 T@d Wbl (583 © ez |
T Refy 391

s FNaA | 20 | 29 | 28 | 33 | 42 | 38 | 43 | 25
B9 T 6 |28 |24 |15 2 | 4| 1]20]|

Sies (e efe@Ibre 100 & QA 50 73¢9 fowocg Aew st (6r% o
waq] R | 941 o 3

&© P V99 20 | 29 | 28 | 33 | 42 | 38 | 43 | 25

RICG] 31307 6 | 28 | 24 | 16 | 2 4 1 | 20
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mamraﬁmﬁmw%qmﬁwmqmloomﬂﬁmﬁhﬁ
@ﬁaﬁ%ﬁwaﬁlmﬁy:

Qg TR 20 | 29 | 28 | 33 | 42 | 38 | 43 | 25
WEETERE M | 6 | 28 | 24|15 2 | 4 | 1 | 20
Frfeiaa sfwst # 50 998 % ©F = ¥ 100 DT F W A= <€ T B
LT 1A ST
T 20| 29 | 28 | 33 | 42 | 38 | 43 | 25
B F G 6 |28 124 | 15| 2 | 4 1 | 20

60. Draw a triangle ABC with sides BC =7 cm, 4B = 45°, /A =105°.

Then construct a triangle whose sides are g- times the

corresponding sides of AABC.
BC =T7cm, /B = 45°, /A =105° §& ABC b1 fagg wiwl | ©F e
aﬁmﬁmwmmmwﬂw%m 1

BC =7 cm, /B = 45° /A =105° IE <7 fagw ABC wi® | SRR
G fagw wie Tm AR AABC—uﬂaWﬂW@ﬁagﬁm

BC =7 cm, /B = 45°, /A =105° S@1fH ABC #F® Im@f-99m 3Ry |
ﬁﬁmmcﬁﬁ@ﬁm@ﬁtﬁgmw@ﬁmmﬁm

i |

& fiys ABC sy, fait BC =T7cem, /B =45°, /A =105° & R
m%ﬁﬁmﬁuﬁgﬁﬁmcﬁw-gmaﬁﬁgwél
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61. If o, 3 are the zeroes of the polynomial x2 4+ bx+c, then show

that % is a zero of the polynomial ex? (b2 -2¢)x +e.
K

T x2+brt+c IMOR P T oo, B W, (T YA @
cxz—(b2f2c)x+c‘q"i°ﬁc3ﬁdlﬁ‘ﬁ7%.

M x24bx+c IPWHI M W oo, B W, OFE @A A
cxz—(bz—Qc)x+c?i‘5\W~ﬂ$ﬁ‘ﬁT%.

IR x2 + bx + ¢ T Y df@’s1 o, B T, e BEH G
& ex? — (02 —2¢)x + ¢ TreEm=i T g’ %.

R x%+bx+c TEE F D Y[AF o, B @, @A WY B
cxz—(b2—2c)x+ca§qaanmw%€m|
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